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5.4-5.5 Worksheet , : & _ Period
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Show all supporting work. All answers must be exact, but you may use calculator to check.
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Sum and difference formulas:

(Hint: 105“—60°+4S° (Hint: ,m’ =300°—45°)
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Double Angles:

8. Solve: cos2x+sinx=0
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9. Solve: sin2x+cosx=0
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Honors Algebra 3-4 - Name:

5.4-5.5 Worksheet Period

Show all supporting work. All answers must be exact, but you may use calculator to check.

Sum and difference formulas:

(Hint: 105° = 60°+45°) (Hint: 225°=300°-45°)
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7. Verify: sin(37-x)=sinx




Double Angles:

_—_ 8. Solve: cos2x+sinx=10

9. Solve: sin2x+cosx=0
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